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1. ‘Find’ option is available at the following
Tab in MS-Word 2010.

(A) Insert
(B) Home
(C) View
(D) None of the above
9 ccevienne...ds used to translate the Internet
domain name into internet protocol

address. For example the domain name
www.vmou.ac.in might translate to IP
address 192.105.24.32

(A) VPN (Virtual Private Network)

(B) DNS (Domain Name Service)

we (C) DVD

';'E (D) CD

r: : ' ] s
. L provides temporary storage for files

and folders that you delete.
(A) Recycle bin
(B) Control Panel
(C) My network places
(D) Secondary storage unit

4. While sending an email, if an email address
is put into ...... field, the person will get a
copy of the email but no other recipient
will see the email address that was put in
the above field.

(A) Cc

(B) Bcc
(C) Junk
(D) Subject

5. Which is NOT the Network Topology?
(A) Mesh Topology
(B) Tree Topology
(C) Moon Topology
(D) Star Topology

THUHIS—2010 H ‘Hge e foad
. QUcTE] AT 87
(A) g7ae
(B) BmH
w &
(D) SR H 9 i dal
o, fH d @ fde grT Sevie €MF W @I
i %‘p
O ©FF 99 www.vmou.ac.in @I [P Ug¥
192.105.24.32 % uRafda s Siar 21
& e, (s wgee Teds)
T By g (€ AW afda)
(C) A
(D) S

. TP HIOSY B, O 3MUD RT &S Y
B d Bless & (o0 ARIY] HUBYT Y
BT & | :
\(.A(Wmao—vrfaﬁ
(B) wgidt 4
(C) =T FEad el
(D) fEdr ¥sru gfe

4\ e dord §HY A I-HA TRE P A
Piee # @l Wd df 9o Bies dlel i
B 3-HA @ U W™ B WRe AN
YTihd] Sal 580 USd @ Jel od U |
(&Y Ce’
(B) Bce
(C)  Junk
(D) Subject

5. H § B Acdd Sl el 2e
(A) WY erarars >
(B) I el
ey ¥ et
(D) ¥R E/Mraml
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6. Which of the following is considered to be
the strongest password?

(A) Vmou@2017
(B) Rscit
(C) strongpassword

(D)
7. Which of the following is a type of

vinou

relationship between two entities?

(A 1:1
B) 1:N
(C) N:N
(D) All of these
IR is method where multiple
task/process share common proceﬁqmg

sources such as CPU.
{A) Multitasking
(B) Multiprocessing
(C) Multisharing
(D) All of these
Q. Auiiiseesess is a program that operates
and controls the device that i§ attached to
Computer.
(A) Application software
(B) Processing device
(C) Device Driver
(D) None of these
......... is an input device used to input
audio data into a computer.
(A) Speaker
(B) Volume Control
(C) WiFi
(D) Microphone

10.

A Proxy firewall filters at the-
(A) Application Layer
(B) Data Link Layer
(C) Network Layer
(D) None of the above

11.

A3

F

H HEE TS WeW drhdday HET

w
ST 87 =5
M\’mouCQﬂl?

(B) Rscit

(C) strongpassword

(D) vmou
o # ¥ orar Raealm < dedy &
Jra giar 87
AT 1t

(B) I:N

(C) N:N

(D) SWiEd ¥ ¥ 9

Haauam/ﬁww%ﬁd’q
O 3ggal BT SUAT o
(A) WeCICRST
By AT
(C) wecrigi
(D) SWad ¥ ¥ 3
9, TFICY ¥ cd fEagw @I Sffuve vd Fsid
& & forg 9 2 |
) TI®e |gedar
Fﬁ'ﬁﬁ?ﬂ%ﬂﬁﬂ

o

(D) m#ﬁaﬁa‘:@

H 9 Qfffdr s 31 Fger ¥ gAYe
oY @ fow d=Er $Ye SUHH S9AN d
foram S 87
Ly T
(B) dfegd Hgiet
(C) WiFi
Dy~ A
U BRREre fheefR fod oo 8§ 8
8?7
(A) USHHIE R
(B) sreT foid iR
TP RN
SRIFT § & PIg 81

® TNE
8, 9%

g
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12. What is the frequency range for the satellite W FRIfBIE B gl I @ B
s

communication?

500 MHz — 40 GHz
1GHz — 50GHz

80 GHz — 110 MHz
500 kHz — 30 MHz

(A)
(B)
(&)
(D)

13. Portrait and Landscape are-

(A) 500 MHz -40 GHz

 (BY 1GHz - 50GHz

o

(C) 80GHz- 110 MHz

Wl 500 kHz - 30 MHz

ﬁ?aé@w‘mﬁaﬁ%—
WAy Tt SfRyCEE

(A) Page Orientation
(B) Page Size (B) U AIsw
(C) Page Layout (C) US wmse
(D) All of the above (D) SREE ¥ T
14. Which of the following is not a cloud |.7@ =1 & 9§ PIET FAASS RS ATl 87
storage? | (A) T gI=d
(A) Google drive uB) T g
(B) Hard drive =
(C) Drop box PR a‘raf?
(D) Microsoft one drive (D) FIEHIHTE ?‘F[ xi=d
B e layer defines details of how data is @//@F—? ¥ ¥ A R, Tedd 9 fhisidel
physically sent through the network. o A WM @ AR H fRgd SR <l
(A) Internet 27 )
(B) Network Access 55 L
By TTeae gf TR
(C) Transport (C) Tiaue iR
(D) None of the above (D) SWRad H | Big 76l

16. Which command is used to create a new
slide in MS-Power Point 2010 -
(A) Cul+M
(B) Cul+N
(C) Cul+T
(D) None of the above
17. Extensions of Excel 2003, Excel 2007 and 1

Excel 2010 file are-

(A) xIsx, xIs and xIsx
(B) docx, doc and docx
(C) xls, xIsx and xIsx
(D)  xls, xls and xIsx

= i g B ey TUHOTER dige 2010
¥ 7% worse g # foar e g7

@&y Ctrl +M
Ctrl + N

(C) Ctrl+T
D) SWad § ¥ Pl A8l

//Tad—2003, UEHei—2007 9 TRIG—2010 H

Bl @1 P [pE YawceE H | fda
SITeT 87

(A) xlsx, xls 3R xlIsx
(B) dogx, doc 3R docx
Mﬁxlsx 3R xlsx
D) xls, xIs 3R xlsx
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In MS-Access 2010, what are the options
available in “Quick Select”-

(A) Selection

(B) Toggle Filter

(C) Atomicity :

(D) Option (A) and (B) both
Which key
minimize all open windows on the screen
in Windows 10? ERT =

(A) Alt+M

(B) Shift+M

(C) Cul+D

(D) Windows Key +D
The character has a special
meaning in an e-mail address.

(A) @

B) .
© S

(D) None of the above
Which
formatting in MS-Word 2010-

(A) Curl+ Shift +V

(B) Ctrl + Shift + C

(C) Cul+C

D) Cul+Alt+V

18.

combination is used to

19.

20.

command 1S used

21.

22,
measured in-

(A) Hertz
(B)
(C) Bits per seconds
(D) Watt

The following is NOT the type of ROM-
(A) PROM
(B) EROM
(C) Flash Memory
(D) None of the above

Dots per inches

23.

The speed of data transfer in a network is 2

TH. URIE 2010 % “quick select” q o=
¥ I Y e Bd 27
(A) e
(B) <ffTa fheex

(C)
@) (A) g (B) T

oA fFe—10 ¥ ¥ Geh g R @
[ Rfmes & @ fog A d 9 B
HHUS BT SUANT # foraT ST &7
) Alt+M
(B) Shift+M
(C) Cul+D
(D) Windows Key + D
Mw TR § W ud S e H
farely waer g 87
@
(B)
€ %
(D) T ¥ PIE e
¥ ¥ @ Py oEas 2010 H Bl

for copyw
: wrifeT & fog Suanr 4 foran omar &7

(A) Cul+ Shift+V

@B~ Cul + Shift+ C

(C) Ctrl+C
(@Y Curl+Alt+V
Jegd 3 TET TEER P T Bl
H a7 S 87
(A) &
(B) Scd W &
ey fed w w5
(D) dfe

frer % ¥ $I9] ROM &1 YHR -2l 87
(A) PROM

(B) EROM

&y T HER

Dy SR | ¥ Bl 78l

e
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24. A primary key consists of ......... 24 ) USHRI Hoil A .. B 2|

(A) Duplicate values (A) rg'taﬁ‘cﬁan é”(vq:{{
(B) Unique Values (B) qﬁ?ﬁ JeH
(C) (A)and (B) both U@ (A) 3R (B) ST
(D) None of these (D) SRET § T PE T8
25. In G-mail, which of the following label is 252 3% # & ®IAI oldel G-mail # 3 arell
used to represent the incoming emails- U @ gR W qarar 87
(A) Inbox JAT  sFEEd
(B) Send Mail (B) == 9=
(C) Draft (C) |9
26. USB stands for- W # J USB &I H&d &—
(A) Universal Serial Band (A) Iada diRga 98
- (B) Universal Serial Bus B qﬁaﬁ?—f s a9
(C) Unique Serial Bus (C) IHw AiRae a9
(D) None of the above (D) ST 7 A PIS T8
27. Which is not a chart type in Excel 20107 Z = § W P 98 YBR Udad 2010 A
: T8I Bl 87
A) Pie Chart
. A) € T
(B) Bar Chart (B) aR =T
(C) Line Chart ©)" a4
(D) Legend Chart L(B‘)/ 3}@@ =1
2g. DBMS follows the ACID properties, ACID 2 BMS, ACID WUl T AR &RaTl ¥,
stands for- : ACID &7 Aaad 28—
(A) Auto Created Index (A)  difer foufes g==a=
(B) Atomicity, Consistency, Isolation (_34/ iR RRe=N, angdeeE
and Durability g 3-.53@%@[
(C) All Consistent Identity (€) dife sR= assfed
(D) Auto Consistent Identification (D) 3ife] s arelefrdu
29 A character that is raised and is smaller, 290 U@ 3R TEA ¥ HUX DI G¥% ol 83l T4
above the baseline is known as- BT A& Pl B—
(A) Capscript (A) Capscript
(B) Raised (B) Raised
(C) Outlined ey Outlined
(D) Superscript (D) Superscript
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30.

31.

32.

33.

34.

35.

A collection of 8 bytes is called- 30. 8 qiEc & HAGIH .25\[ FEd o

(A) Bit A) fae

(B) Record ' i b(p))/ Reopte

(C) Nibble (C) rad

(D) None of the above D) SR § ¥ B T8

......... is used to move from one site to % %7 SUGNT UH WIgc A guN 9IS
another, to a network or inter-network W AT Uh Head g sex—cdd dleed #
location. T @ foIq fehar STl & |

(A) Hyperlink ¥ M R ]

(B) Hypermedia . ' (B) wTguRHIEET

(C) Hypertext (C) BRIRERT

(D) HTML ' (D) HTML
PAN stands for- 99,/ PAN &1 T A1 il 28—

(A) Personal Area Network /(}yf e TRYT Aedd

(B) Private Area Network (B) wrsde uRar ATTD

(C) Professional Area Network \Q UIBeEe TRAT Aedd

(D) None of the above : . (D) SR §  PIS AL
Which of the following table network 3 ¥ ¥ P Cad dAead @ WMl Aead
keeps track of all known network address TSH T GG T B GAAT & 87

and possible paths of a network? (A) Rigar <o

(A) Symbol table _B) IrsfeT eue

(B) Routing table ey Ricw <9a

(C) System table : D) SR 8 ¥ o

(D) All of these

Full form of PDF is - ;47; PDF &1 Q3T 19 &1 87

(A) Processing Document Files ) ST Siagde g

(B) Published Document Files (B) gfecigs @“iaa:gﬁa BIsd

(C) Portable Document Files (C) urcdd :g‘—‘mlﬁg LIER]

(D) None of these . (D) SR § Y BIS T8l

The process of copying a file into CD/DVD JWD{DVD ¥ BId $I BUI B D THE DI
is often called as- FEd o—

(A) Storing @A) wRT

(B) Burning LB) AR

(C) Pasting (€) T

(D) Assembling (D) Ry

~
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VARDHMAN MAHAVEER OPEN UNIVERSITY, KOTA
Rawatbhata Road, Kota -324021

RSCIT CELL
Answer key of RSCIT Exam held on 03-03-2019 Dated: - 03-03-2019
S.No. SET-A SET-B SET-C SET-D
1 B B A C
2 B B B D
3 D A D D
4 B B A A
5 A C C A
6 A A B B
7 D D B B
8 B A A B
9 A C A C
10 A D B B
11 C A A A
12 B B B B
13 B A D C
14 B B B B
15 D B D B
16 A A c A
17 B @ B B
18 A D D A
19 G D D D
20 A A B B
21 D B A B
22 D C A B
23 B D A C
24 C B C D
25 C A C D
26 B B D A
27 B D B C
28 A B & B
29 c D B A
30 A D D A
31 A A A D
32 D A A D
33 B B D A
34 D C B A
35 D B B D

Grievance related to above key will be entertained till 07-03-2019 received by email only.
Kindly send all the grievances on below mentioned e-mail address only.

Email Address:- rscitexam@vmou.ac.in

Controller éf Examinations



